# RESEARCH

# **Open Access**

# Existence of an interior path leading to the solution point of a class of fixed point problems

Menglong Su<sup>1\*</sup> and Xiaohui Qian<sup>2</sup>

\*Correspondence: mlsulynu@163.com <sup>1</sup>School of Mathematical Sciences, Luoyang Normal University, Luoyang, 471022, P.R. China Full list of author information is available at the end of the article

# Abstract

In this paper, we propose a new set of unbounded conditions to make the interior path following method able to solve fixed point problems with both inequality and equality constraints in a class of unbounded nonconvex set. Under suitable assumptions, we give a constructive proof of the existence of interior path leading to the solution point of this class of fixed point problems.

Keywords: interior path following method; fixed point problems; constructive proof

# **1** Introduction

It is well known that fixed point theorems have been widely applied to many areas such as mechanics, physics, transportation, control, economics, and optimization. Many important research results can be found in the literature in the past years (see [1-4], etc. and the references therein). In 1976, Kellogg et al. (see [5]) gave a constructive proof of the Brouwer fixed point theorem and hence presented a homotopy method for computing the fixed points of a twice continuously differentiable self-mapping  $\Phi(x)$ . From then on, this method has become a powerful tool in dealing with fixed point problems (see [6–10], etc. and the references therein). In general, these results in the literature require certain convexity assumptions, and it is difficult to reduce or remove these assumptions. However, the general Brouwer fixed point theorem does not require the convexity of the subsets in  $\mathbb{R}^n$ , certainly it is also very interesting and important to give a constructive proof of it and hence solve fixed point problems numerically in general nonconvex subsets. In 1996, Yu and Lin [11] proposed a homotopy interior path following method to complete this work on a class of nonconvex subset satisfying the normal cone condition, which is a generalization of the convexity. In [12], by introducing  $C^2$  mappings  $\alpha(x) = (\alpha_1(x), \dots, \alpha_m(x)) \in \mathbb{R}^{n \times m}$  and  $\beta(x) =$  $(\beta_1(x), \dots, \beta_l(x)) \in \mathbb{R}^{n \times l}$ , we further extended the results in [11] to more general nonconvex sets with both inequality and equality constraint functions. More recent related work can be seen in [13–15]. Set  $X = \{x \in \mathbb{R}^n : g_i(x) \le 0, i = 1, ..., m, h_i(x) = 0, j = 1, ..., l\}, X^0 = \{x \in \mathbb{R}^n : g_i(x) \le 0, i = 1, ..., m, h_i(x) = 0, j = 1, ..., l\}$  $R^n: g_i(x) < 0, i = 1, ..., m, h_i(x) = 0, j = 1, ..., l$ ,  $R^m_+ = \{x \in R^m: x \ge 0\}, R^m_{++} = \{x \in R^m: x > 0\}$ , and  $B(x) = \{i \in \{1, ..., m\} : g_i(x) = 0\}$ . Now we state the main result in [12] as follows:

**Theorem 1.1** Suppose that all  $g_i(x)$ , i = 1, ..., m, and  $h_j(x)$ , j = 1, ..., l, are  $C^3$  functions and:

© 2015 Su and Qian; licensee Springer. This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly credited.

🖄 Springer

(A<sub>2</sub>) for any  $x \in X$ , if

$$\sum_{i\in B(x)} \left(y_i \nabla g_i(x) + u_i \alpha_i(x)\right) + \sum_{j=1}^l z_j \beta_j(x) = 0, \quad y_i \ge 0, u_i \ge 0, z_j \in \mathbb{R}^1,$$

*then*  $y_i = 0$ ,  $u_i = 0$ ,  $\forall i \in B(x)$ , and  $z_j = 0$ , j = 1, ..., l;

(A<sub>3</sub>) (the weak normal cone condition of *X*) for any  $x \in X$ , we have

$$\left\{x+\sum_{i\in B(x)}u_i\alpha_i(x)+\beta(x)z:u_i\geq 0,i\in B(x),and\ z\in R^l\right\}\cap X=\{x\};$$

(A<sub>4</sub>) for any  $x \in X$ ,  $\nabla h(x)$  is of full column rank and  $\nabla h(x)^T \beta(x)$  is nonsingular.

Then for any  $C^2$  mapping  $\Phi(x)$ :  $\mathbb{R}^n \to \mathbb{R}^n$  satisfying  $\Phi(X) \subset X$  and for almost all  $(x^{(0)}, y^{(0)}, z^{(0)}) \in X^0 \times \mathbb{R}^m_{++} \times \mathbb{R}^l$ , there exists a  $C^1$  curve  $(w(s), \mu(s))$  of dimension 1 of the homotopy

$$H_1(P, P^{(0)}, \mu) = \begin{pmatrix} (1-\mu)(x - F(x) + \mu \nabla g(x)y + \alpha(x)y^2) + \beta(x)z + \mu(x - x^{(0)}) \\ h(x) \\ Yg(x) - \mu Y^{(0)}g(x^{(0)}) \end{pmatrix} = 0 \quad (1)$$

such that the limit set  $T \subset X^0 \times R^m_+ \times R^l \times \{0\}$  is nonempty, and the x-component of any point in T is a fixed point of F(x) in X, where  $P = (x, y, z) \in R^{n+m+l}$ ,  $P^{(0)} = (x^{(0)}, y^{(0)}, z^{(0)}) \in R^n \times R^m_{++} \times R^l$ ,  $\alpha(x) = (\alpha_1(x), ..., \alpha_m(x)) \in R^{n \times m}$ ,  $y^2 = (y_1^2, ..., y_m^2)^T \in R^m$ ,  $g(x) = (g_1(x), ..., g_m(x))^T$ ,  $h(x) = (h_1(x), ..., h_m(x))^T$ ,  $\nabla g(x) = (\nabla g_1(x), ..., \nabla g_m(x)) \in R^{n \times m}$ ,  $Y = \text{diag}(y) \in R^{m \times m}$ ,  $Y^{(0)} = \text{diag}(y^{(0)}) \in R^{m \times m}$ , and  $\mu \in (0, 1]$ .

In [12], the global convergence of the algorithm is obtained under the assumption that the subset is bounded. To remove the boundednesss assumption, we present a set of unbounded conditions, under which, we are able to solve fixed point problems in a class of unbounded nonconvex set. Section 2 is the main part, which exhibits a convergence proof by the interior path following method.

### 2 Convergence analysis

To enlarge the scope of choice of initial points, similar to the way in [16], in this section, we still apply proper perturbations to the constrained functions  $g_i(x)$ , i = 1, ..., m, and introduce the parameter

$$\gamma_i = \begin{cases} 1, & g_i(x^{(0)}) \ge 0, \\ 0, & g_i(x^{(0)}) < 0, \end{cases} \quad i = 1, \dots, m,$$

then let

$$\begin{split} X(\mu) &= \left\{ x : g_i(x) - \mu \gamma_i \left( g_i(x^{(0)}) + 1 \right) \le 0, i = 1, \dots, m, h(x) = 0 \right\}, \\ X^0(\mu) &= \left\{ x : g_i(x) - \mu \gamma_i \left( g_i(x^{(0)}) + 1 \right) < 0, i = 1, \dots, m, h(x) = 0 \right\}, \\ \partial X(\mu) &= X(\mu) \setminus X^0(\mu), \qquad I(x, \mu) = \left\{ i : g_i(x) - \mu \gamma_i \left( g_i(x^{(0)}) + 1 \right) = 0, i = 1, \dots, m \right\}. \end{split}$$

Now we construct the homotopy equation as follows:

$$H(P,P^{(0)},\mu) = \begin{pmatrix} (1-\mu)(x-\Phi(x)+\mu\nabla g(x)y+\alpha(x)y^2)+\beta(x)z+\mu(x-x^{(0)})\\ h(x)\\ Y(g(x)-\mu\Upsilon(g(x^{(0)})+e))-\mu\Upsilon^{(0)}(g(x^{(0)})-\Upsilon(g(x^{(0)})+e)) \end{pmatrix} = 0, \quad (2)$$

where  $e = (1, ..., 1)^T \in \mathbb{R}^m$  and  $\Upsilon = \text{diag}(\gamma_1, ..., \gamma_m)$ .

This section is devoted to solving fixed point problems in unbounded sets. To this end, we introduce the concept of infinite solutions in [17]. The fixed point problem is said to have a solution at infinity, if the sequences  $\{x^{(k)}\}$  satisfy the following conditions:

(i)  $\{x^{(k)}\} \subset X(\mu);$ 

(ii) when 
$$k \to \infty$$
,  $||x^{(k)}|| \to \infty$ ;

(iii) for any given  $x \in X(\mu)$ , there exist  $y^{(k)} \in \mathbb{R}^m_+$  and  $z^{(k)} \in \mathbb{R}^l$  such that

$$\lim_{k \to \infty} (x - x^{(k)})^T ((x^{(k)} - F(x^{(k)}) + \alpha(x^{(k)})(y^{(k)})^2) + \beta(x^{(k)})z^{(k)}) \ge 0.$$

Then we replace the original assumption  $(A_1)$  by the following unboundedness assumption:

(A'\_1)  $X^0(\mu)$  is nonempty; fixed point problems have no infinite solutions and for any given  $\eta \in X(\mu)$ ,

$$(x-\eta)^T \nabla g(x) \ge \left(g(x) - \mu \Upsilon \left(g(x^{(0)}) + e\right)\right)^T - \left(g(\eta) - \mu \Upsilon \left(g(x^{(0)}) + e\right)\right)^T$$

and

$$(x-\eta)^T \beta(x) \ge h(x)^T - h(\eta)^T.$$

The corresponding assumptions to assumptions (A<sub>2</sub>)-(A<sub>4</sub>) are needed. (A<sub>2</sub>) For any  $x \in X(\mu)$ , if

$$\sum_{i\in I(x,\mu)} (y_i \nabla g_i(x) + u_i \alpha_i(x)) + \sum_{j=1}^l z_j \beta_j(x) = 0, \quad y_i \ge 0, u_i \ge 0, z_j \in \mathbb{R}^1,$$

then  $y_i = 0$ ,  $u_i = 0$ ,  $\forall i \in I(x, \mu)$ , and  $z_j = 0$ , j = 1, ..., l;

 $(A'_3)$  (the weak normal cone condition of X(1)) for any  $x \in X(1)$ , we have

$$\left\{x+\sum_{i\in I(x,1)}u_i\alpha_i(x)+\beta(x)z:u_i\geq 0, i\in B(x), \text{ and } z\in \mathbb{R}^l\right\}\cap X(1)=\{x\};$$

(A<sub>4</sub>) for any  $x \in X(\mu)$ ,  $\nabla h(x)$  is of full column rank and  $\nabla h(x)^T \beta(x)$  is nonsingular.

For a given  $P^{(0)}$ , rewrite  $H(P, P^{(0)}, \mu)$  as  $H_{P^{(0)}}(P, \mu)$ . The zero-point set of  $H_{P^0}$  is

$$H_{p^{(0)}}^{-1}(0) = \{ (P,\mu) \in X(\mu) \times \mathcal{R}_{+}^{m} \times \mathcal{R}^{l} \times (0,1] : H_{P^{(0)}}(P,\mu) = 0 \}.$$

The inverse image theorem tells us that, if 0 is a regular value of the map  $H_{p^{(0)}}$ , then  $H_{p^{(0)}}^{-1}(0)$  consists of some smooth curves. The regularity of  $H_{p^{(0)}}$  can be obtained by the following lemma.

**Lemma 2.2** Let *H* be defined as in (2), let  $g_i(x)$ , i = 1, ..., m, and  $h_j(x)$ , j = 1, ..., l, be  $C^3$  functions, let assumptions  $(A'_1)-(A'_4)$  hold, and let  $\alpha_i(x)$ , i = 1, ..., m, and  $\beta_j(x)$ , j = 1, ..., l, be  $C^2$  functions. Then, for almost all  $P^{(0)}$ , the projection of the smooth curve  $\Gamma_{P^{(0)}}$  onto the *x*-plane is bounded.

*Proof* If not, then there exists a sequence of points  $\{(x^{(k)}, y^{(k)}, z^{(k)}, \mu_k)\}_{k=1}^{\infty}$  such that  $||x^{(k)}|| \to \infty$  as  $k \to \infty$ .

It is easy to show that the following inequality holds:

$$\|x - \eta\|^{2} - \|x^{0} - \eta\|^{2} \le 2(x - \eta)^{T} (x - x^{0}).$$
(3)

Then we have

$$(1 - \mu_k) (x^{(k)} - F(x^{(k)}) + \mu_k \nabla g(x^{(k)}) y^{(k)} + \alpha (x^{(k)}) (y^{(k)})^2) + \beta (x^{(k)}) z^{(k)} + \mu_k (x^{(k)} - x^{(0)}) = 0,$$
(4)

$$h(x^{(k)}) = 0, \tag{5}$$

$$Y(g(x) - \mu \Upsilon(g(x^{(0)}) + e)) - \mu Y^{(0)}(g(x^{(0)}) - \Upsilon(g(x^{(0)}) + e)).$$
(6)

Multiplying (4) by  $(x^{(k)} - \eta)^T$ , we get

$$(1 - \mu_k) (x^{(k)} - \eta)^T (x^{(k)} - F(x^{(k)}) + \mu_k \nabla g(x^{(k)}) y^{(k)} + \alpha(x^{(k)}) (y^{(k)})^2) + (x^{(k)} - \eta)^T \beta(x^{(k)}) z^{(k)} + \mu_k (x^{(k)} - \eta)^T (x^{(k)} - x^{(0)}) = 0,$$
(7)

i.e.,

$$\mu_{k} (x^{(k)} - \eta)^{T} (x^{(k)} - x^{0})$$

$$= -(x^{(k)} - \eta)^{T} \beta (x^{(k)}) z^{(k)}$$

$$- (1 - \mu_{k}) (x^{(k)} - \eta)^{T} (x^{(k)} - F(x^{(k)}) + \mu_{k} \nabla g(x^{(k)}) y^{(k)} + \alpha (x^{(k)}) (y^{(k)})^{2}).$$
(8)

So

$$\begin{split} \mu_{k} \big( \|x^{(k)} - \eta\|^{2} - \|x^{0} - \eta\|^{2} \big) \\ &\leq 2\mu_{k} (x^{(k)} - \eta)^{T} (x^{(k)} - x^{0}) \\ &= -2(1 - \mu_{k}) \big( x^{(k)} - \eta \big)^{T} \big( x^{(k)} - F(x^{(k)}) + \alpha \big( x^{(k)} \big) \big( y^{(k)} \big)^{2} \big) \\ &- 2(1 - \mu_{k}) \mu_{k} \big( x^{(k)} - \eta \big)^{T} \nabla g(x^{(k)}) y^{(k)} - 2 \big( x^{(k)} - \eta \big)^{T} \beta \big( x^{(k)} \big) z^{(k)} \big) \\ &= -2(1 - \mu_{k}) \big( x^{(k)} - \eta \big)^{T} \big( x^{(k)} - F(x^{(k)}) + \alpha \big( x^{(k)} \big) \big( y^{(k)} \big)^{2} + \beta \big( x^{(k)} \big) z^{(k)} \big) \\ &- 2(1 - \mu_{k}) \mu_{k} \big( x^{(k)} - \eta \big)^{T} \nabla g(x^{(k)}) y^{(k)} - 2 \mu_{k} \big( x^{(k)} - \eta \big)^{T} \beta \big( x^{(k)} \big) z^{(k)} \big) \end{split}$$

$$\leq -2(1-\mu_{k})(x^{(k)}-\eta)^{T}(x^{(k)}-F(x^{(k)})+\alpha(x^{(k)})(y^{(k)})^{2}+\beta(x^{(k)})z^{(k)}) +2(1-\mu_{k})\mu_{k}(g(\eta)-\mu\Upsilon(g(x^{(0)})+e))^{T}y^{(k)}+2\mu_{k}(h(\eta)^{T}y^{(k)}-h(x)^{T})z^{(k)} -2(1-\mu_{k})\mu_{k}(g(x)-\mu\Upsilon(g(x^{(0)})+e))^{T}y^{(k)} \leq -2(1-\mu_{k})(x^{(k)}-\eta)^{T}(x^{(k)}-F(x^{(k)})+\alpha(x^{(k)})(y^{(k)})^{2}+\beta(x^{(k)})z^{(k)}) -2(1-\mu_{k})\mu_{k}^{2}(g(x^{(0)})-\Upsilon(g(x^{(0)})+e))^{T}y^{(0)}.$$
(9)

By (9), we have

$$(\eta - x^{(k)})^{T} (x^{(k)} - F(x^{(k)}) + \alpha (x^{(k)}) (y^{(k)})^{2} + \beta (x^{(k)}) z^{(k)})$$

$$\geq \frac{\mu_{k}}{2(1 - \mu_{k})} (\|x^{(k)} - \eta\|^{2} - \|x^{0} - \eta\|^{2}) + \mu_{k}^{2} (g(x^{(0)}) - \Upsilon (g(x^{(0)}) + e))^{T} y^{(0)}.$$

$$(10)$$

When  $||x^{(k)}|| \to \infty$ , by (10), we have

$$\lim_{k \to \infty} (\eta - x^{(k)})^T (x^{(k)} - F(x^{(k)}) + \alpha (x^{(k)}) (y^{(k)})^2 + \beta (x^{(k)}) z^{(k)})$$

$$\geq \lim_{k \to \infty} \frac{\mu_k}{2(1 - \mu_k)} (\|x^{(k)} - \eta\|^2 - \|x^0 - \eta\|^2) + \mu_k^2 (g(x^{(0)}) - \Upsilon (g(x^{(0)}) + e))^T y^{(0)}$$

$$\geq 0, \qquad (11)$$

which contradicts assumption  $(A'_1)$ .

With the preparation of the previous lemmas, we can prove the following main theorem on the existence and boundedness of a smooth path from a given point  $x^{(0)}$  in  $\mathbb{R}^n$  to a fixed point. This proof implies the global convergence of the path following algorithm.

**Theorem 2.1** Let *H* be defined as in (2), let  $g_i(x)$ , i = 1, ..., m, and  $h_j(x)$ , j = 1, ..., l, be  $C^3$  functions, let assumptions  $(A'_1)$ - $(A'_4)$  hold, and let  $\alpha_i(x)$ , i = 1, ..., m, and  $\beta_j(x)$ , j = 1, ..., l, be  $C^2$  functions. Then for any  $C^2$  mapping  $F(x) : \mathbb{R}^n \to \mathbb{R}^n$  satisfying  $F(X) \subset X$ :

- (1) (existence of the fixed point) F(x) has a fixed point in X;
- (2) for almost all  $P^{(0)} \in \mathbb{R}^n \times \mathbb{R}^m_{++} \times \mathbb{R}^l$ , there exists a  $C^1$  curve  $(P(s), \mu(s))$  of dimension 1 such that

$$H(P(s), P^{(0)}, \mu(s)) = 0,$$
  $(P(0), \mu(0)) = (P^{(0)}, 1).$ 

And when  $\mu(s) \to 0$ , P(s) tends to a point  $P^* = (x^*, y^*, z^*)$ . In particular, the component  $x^*$  of  $P^*$  is a fixed point of F(x) in X.

*Proof* Denoting the Jacobi matrix of  $H(P, P^{(0)}, \mu)$  by  $DH(P, P^{(0)}, \mu)$ ,  $\forall (P, \mu) \in \mathbb{R}^{n+m+l} \times (0, 1]$ , we obtain

$$\begin{aligned} & \frac{\partial H(P, P^{(0)}, \mu)}{\partial (x, x^{(0)}, y^{(0)})} \\ & = \begin{pmatrix} A & -\mu I & 0 \\ \nabla h(x)^T & 0 & 0 \\ Y \nabla g(x)^T & -\mu YB - \mu Y^{(0)} (\nabla g(x^{(0)})^T - B) & -\mu (G(x^{(0)}) - \Upsilon(G(x^{(0)}) + I)) \end{pmatrix}, \end{aligned}$$

where

$$A = (1 - \mu) \left( I - \nabla F(x) + \mu \sum_{i=1}^{m} \nabla^2 g_i(x) y_i + \sum_{i=1}^{m} \nabla \alpha_i(x) y_i^2 \right) + \sum_{j=1}^{l} \nabla \beta_j(x) z_j + \mu I,$$
  
$$B = \Upsilon \nabla g(x^{(0)})^T, \qquad G(x^{(0)}) = \text{diag}(g(x^{(0)})).$$

Since  $G(x^{(0)}) - \Upsilon(G(x^{(0)}) + I) < 0$  and  $\nabla h(x)^T$  is a matrix of full row rank, by the parameterized Sard theorem and the inverse image theorem,  $H_{p^{(0)}}^{-1}(0)$  consists of some smooth curves. Since  $H_{p^{(0)}}(P^{(0)}, 1) = 0$ , then there exists a  $C^1$  curve  $(P(s), \mu(s))$  (denoted by  $\Gamma_{P^{(0)}})$  of dimension 1 such that

$$H(P(s), P^{(0)}, \mu(s)) = 0,$$
  $(P(0), \mu(0)) = (P^{(0)}, 1).$ 

Since

$$\frac{\partial H_{P^{(0)}}(P,\mu)}{\partial P} = \begin{pmatrix} C & D & \beta(x) \\ \nabla h(x)^T & 0 & 0 \\ Y \nabla g(x)^T & G(x) - \mu \Upsilon(G(x^{(0)}) + I) & 0 \end{pmatrix},$$

where

$$\begin{split} C &= (1-\mu) \big( I - \nabla \Phi(x) + \mu \nabla^2 g(x) y + \nabla \alpha(x) y^2 \big) + \nabla \beta(x) z + \mu I, \\ D &= (1-\mu) \mu \nabla g(x) + 2(1-\mu) \alpha(x) y. \end{split}$$

Then it is easy to show that  $\partial H_{P^{(0)}}(P^{(0)}, 1)/\partial P$  is nonsingular. This fact implies that  $\Gamma_{P^{(0)}}$  is diffeomorphic to a unit interval.

Let  $(P^*, \mu^*)$  be a limit point of  $\Gamma_{P^{(0)}}$ , then the following cases may be possible:

- (a)  $(P^*, \mu^*) = (x^*, y^*, z^*, \mu^*) \in X(\mu^*) \times R^m_+ \times R^l \times \{0\},$
- (b)  $(w^*, \mu^*) = (x^*, y^*, z^*, \mu^*) \in X^0(1) \times R^m_{++} \times R^l \times \{1\},$
- (c)  $(P^*, \mu^*) = (x^*, y^*, z^*, \mu^*) \in \partial(X(\mu^*) \times R^m_+ \times R^l) \times (0, 1].$

Note that

$$H(P, P^{(0)}, 1) = \begin{pmatrix} \beta(x)z + x - x^{(0)} \\ h(x) \\ Y(g(x) - \Upsilon(g(x^{(0)}) + e)) - Y^{(0)}(g(x^{(0)}) - \Upsilon(g(x^{(0)}) + e)) \end{pmatrix}$$

Then the equation  $H(P, P^{(0)}, 1) = 0$  has a unique solution  $(P^{(0)}, 1)$  in  $X(1) \times R^m_{++} \times R^l \times \{1\}$ . This fact implies case (b) is not possible.

By the fact that  $X(\mu)$  and (0,1] being bounded, assumption  $(A'_2)$ , and the first and third equations in (2), we see that the component *z* of  $\Gamma_{P^{(0)}}$  is bounded.

If case (c) holds, since  $X(\mu)$  and (0,1] are bounded, hence there exists a subsequence of points (denoted also by  $\{(P^{(k)}, \mu_k)\}$ ) such that  $x^{(k)} \to x^*$ ,  $y^{(k)} \to \infty$ ,  $z^{(k)} \to z^*$ , and  $\mu_k \to \mu^*$  as  $k \to \infty$ .

If  $\mu^* = 1$ , from the first equation in (2),

$$\sum_{i \in I(x^*,1)} (1 - \mu_k) \left( \mu_k \nabla g_i(x^{(k)}) y_i^{(k)} + \alpha_i(x^{(k)}) (y_i^{(k)})^2 \right) + \beta(x^{(k)}) z^{(k)} + x^{(k)} - x^{(0)}$$
  
=  $-(1 - \mu_k) \left( \sum_{i \notin I(x^*,1)} (\mu_k \nabla g_i(x^{(k)}) y_i^{(k)} + \alpha_i(x^{(k)}) (y_i^{(k)})^2) + x^{(0)} - F(x^{(k)}) \right).$  (12)

By the fact that  $y_i^{(k)}$  are bounded for  $i \notin I(x^*, 1)$  and Lemma 2.1, when  $k \to \infty$ , we obtain

$$\lim_{k \to \infty} \left( \sum_{i \in I(x^*, 1)} (1 - \mu_k) \left( \mu_k \nabla g_i(x^{(k)}) y_i^{(k)} + \alpha_i(x^{(k)}) \left( y_i^{(k)} \right)^2 \right) + \beta(x^{(k)}) z^{(k)} + x^{(k)} \right) = x^{(0)}.$$
(13)

By assumptions  $(A'_2)$  and (13), we have

$$\lim_{k \to \infty} (1 - \mu_k) (y_i^{(k)})^2 = \rho_i^* \quad \text{and} \quad \lim_{k \to \infty} (1 - \mu_k) y_i^{(k)} = 0, \quad i \in I(x^*, 1),$$
(14)

where  $\rho_i^* \ge 0$ . Therefore from (13) and (14), we get

$$x^{*} + \sum_{i \in I(x^{*},1)} \rho_{i}^{*} \alpha_{i}(x^{*}) + \beta(x^{*}) z^{*} = x^{(0)},$$
(15)

which contradicts assumption  $(A'_3)$ .

If  $\mu^* < 1$ , when  $k \to \infty$ , since  $X(\mu)$  and  $y_i^{(k)}$ ,  $i \notin I(x, \mu)$  are bounded, then the right-hand side of (12) is bounded. But by assumption  $(A'_2)$ , if  $y_i^{(k)} \to \infty$ ,  $i \in I(x, \mu)$ , then the left-hand side of (12) is infinite. This fact results in a contradiction.

By the above discussion, we obtain the result that case (a) is the unique possible case. Therefore  $P^*$  is a solution of the equation

$$\begin{aligned} x - F(x) + \alpha(x)y^2 + \beta(x)z &= 0, \\ h(x) &= 0, \\ Yg(x) &= 0, \quad g(x) \le 0, \ y \ge 0. \end{aligned} \tag{16}$$

By simple discussions, we conclude that  $x^*$  is a fixed point of F(x) in X. This completes the proof.

For almost all  $P^{(0)} = (x^{(0)}, y^{(0)}, 0) \in X^0(1) \times R^m_{++} \times R^l$ , by Theorem 2.1, the homotopy generates a  $C^1$  curve  $\Gamma_{P^{(0)}}$ , and we get the following theorem.

**Theorem 2.2** The homotopy path  $\Gamma_{p(0)}$  is determined by the following initial value problem to the ordinary differential equation:

$$DH_{P^{(0)}}(P(s),\mu(s))\begin{pmatrix}\dot{P}(s)\\\dot{\mu}(s)\end{pmatrix} = 0, \qquad (P(0),\mu(0)) = (P^{(0)},1), \tag{17}$$

where *s* is the arc length of the curve  $\Gamma_{p(0)}$ .

As for how to trace numerically the homotopy path, there have been many predictorcorrector algorithms; see [7], *etc.* for references. Hence we omit them.

### **Competing interests**

The authors declare that they have no competing interests.

### Authors' contributions

All authors contributed significantly in writing this paper. All authors read and approved this final manuscript.

### Author details

<sup>1</sup> School of Mathematical Sciences, Luoyang Normal University, Luoyang, 471022, P.R. China. <sup>2</sup>College of Science, Zhongyuan University of Technology, Zhengzhou, 450007, P.R. China.

### Acknowledgements

This work was supported by NSFC-Union Science Foundation of Henan (No. U1304103).

### Received: 4 November 2014 Accepted: 13 January 2015 Published online: 27 January 2015

### References

- 1. Bollobas, B, Fulton, W, Katok, A, Kirwan, F, Sarnak, P: Fixed Point Theory and Applications. Cambridge University Press, Cambridge (2004)
- Heikkila, S, Reffett, K: Fixed point theorems and their applications to theory of Nash equilibria. Nonlinear Anal. 64(7), 1415-1436 (2006)
- 3. Lin, LJ, Yu, ZT: Fixed point theorems and equilibrium problems. Nonlinear Anal. 43, 987-999 (2001)
- 4. Park, S: Fixed points and quasi-equilibrium problems. Math. Comput. Model. **32**, 1297-1303 (2000)
- 5. Kellogg, KB, Li, TY, Yorke, JA: A constructive proof of the Brouwer fixed-point theorem and computational results. SIAM J. Numer. Anal. **13**, 473-483 (1976)
- Alexander, JC, Yorke, JA: The homotopy continuation method: numerically implementable topological procedure. Trans. Am. Math. Soc. 242, 271-284 (1978)
- 7. Allgower, EL, Georg, K: Introduction to Numerical Continuation Methods. SIAM, Philadelphia (2003)
- 8. Carcia, CB, Zangwill, WI: An approach to homotopy and degree theory. Math. Oper. Res. 4, 390-405 (1979)
- 9. Chow, SN, Mallet-Paret, J, Yorke, JA: Finding zeros of maps: homotopy methods that are constructive with probability one. Math. Comput. **32**, 887-899 (1978)
- 10. Li, Y, Lin, ZH: A constructive proof of the Poincaré-Birkhoff theorem. Trans. Am. Math. Soc. 347, 2111-2126 (1995)
- 11. Yu, B, Lin, ZH: Homotopy method for a class of nonconvex Brouwer fixed-point problems. Appl. Math. Comput. 74(1), 65-77 (1996)
- Su, ML, Liu, ZX: Modified homotopy methods to solve fixed points of self-mapping in a broader class of nonconvex sets. Appl. Numer. Math. 58(3), 236-248 (2008)
- Martin, O: On the homotopy analysis method for solving a particle transport equation. Appl. Math. Model. 37(6), 3959-3967 (2013)
- 14. Huang, QQ, Zhu, ZB, Wang, XL: A predictor-corrector algorithm combined conjugate gradient with homotopy interior point for general nonlinear programming. Appl. Math. Comput. **219**(9), 4379-4386 (2013)
- 15. Li, HY, Chang, SZ, Xu, ZH: A non-genetic algorithm for solving multi-objective decision-making problems. J. Comput. Inf. Syst. 8(17), 7401-7408 (2012)
- Su, ML, Yu, B, Shi, SY: A boundary perturbation interior point homotopy method for solving fixed point problems. J. Math. Anal. Appl. 377, 683-694 (2011)
- 17. Xu, Q, Yu, B: Homotopy method for non-convex programming in unbounded set. Northeast. Math. J. 21, 25-31 (2005)

# Submit your manuscript to a SpringerOpen<sup>®</sup> journal and benefit from:

- ► Convenient online submission
- ► Rigorous peer review
- Immediate publication on acceptance
- ► Open access: articles freely available online
- ► High visibility within the field
- ► Retaining the copyright to your article

Submit your next manuscript at > springeropen.com